16 GA. GALV. RESIDENTIAL .
3° 20GA. STRUT ATTACHED ' 14GA. DURASAFE 16 GA RESIDENTIAL

TOP ROLLER BRACKET A !
R N G e CENTER e e L e
HEX HERD SCREMS d EACH END STILE HEX HEAD SCREWS SRRV ADUSTABLE SLIDE
% BRAgKET ATTAf/HaED soLT
. , W/@ 174" x 1/2°
B A e e @ 24 GA SKIN (M950) AND NUTS
HEX HEAD SCREWS AT pd
2 10 BALL STEEL ® , EACH CENTER STILE =
ROLLER W/S° STEM ADJUSTABLE ROLLER CARRIER =
W/ 7/16" RETAINER p ATTACHED W/ (@ 1/4° x 1/2°
FOR NON-THREADED SHAFTS ~ BOLT & NUT PER BRACKET ,
TYPICAL TOP FIXTURES . -
N-TS. 1 SEE PAGE 2 \7ED SECTIONS ° SPLICE TRACKS AT THIS LOCATION
GLAZED SEC
SEE (TABLE 2 DN PAGE 3 FOR ————
- STRUT AND STILE LAYDUT W/ (4) 1/4"=20 TRACK SPLICE BOLTS & NUTS
RECOMMENDED SECTION CONFIGURATION TYPICAL DURASAFE CENTER HINGE o \ SE/CL(JR)E T/O JAMB WITH (3) 5/16" DIA. x 1-5/8"
N.T.S. ___STILE STIFFENERS (] LAG BOLTS
LOCATED IN HINGE HOLECS) A «
S (1) 5/16” DIA. x 1-5/8"
(SPLICE> LAG BOLT ATTACHED TO JAMB
| \OLES FOR STRUT AT EA. JAMB BRACKET
(TEP) ATTACHMENT - ﬁL
— (STRUT NOT SHOWN N 12 GA. GALV. STEEL
FOR CLARITY) -F v JAMB BRACKETS
- c ATTACHED W/ (1) 1/4°~20
(THROUGH) TRACK SPLICE BOLT & NUT
G END_HINGE G ] OR (2) RIVETS
THROUGH 14 GA, -
_ g T-— i
F
B
E 3% 20GA. STRUTS ATTACHED
W/ @ 1/4° x 3/4* \7 __L___.
HEX HEAD SCREWS AT
EACH CENTER STILE 3 x 20 GA STRUTS A
EMBOSSMENTS @ PER .
S J TYPICAL STILE STIFFENER —
FOR CLARTTY E B N.TS. o) T_see cranie 3> on Pace 3
l FOR JAMB BRACKET SPACING
- ! TRACK CONFIGURATION FOR 6'6" UP TO 14’ TALL DOORS
SEE TABLE 4 ON PAGE 3 e ; N.TS.
FOR STILE PLACEMENTS | SEE (TABLE 1> ON PAGE 3 A%T;nggRACKET
. FOR STRUT SPACING W/ (5) 1/4" x 3/4"
f 18°=0" MAX HEX HEAD SCREWS
INSIDE_ELEVATION REV | DESCRIPTION OF REVISIONS DATE BY
N.T.S.
3 206A. STRUT 4| POATED BOTIOH BRAGKET INFORMATIN w8/30/08| 0L
_ ATTACHED W/ @ 3’;’?2& ESJR\,L/JI ADDED OAKSUMMIT AND GLAZING OPTIONS
174 x 3/4° HEX
14 Ga DURASHFE e e o _lReveD JOE & L
6N,D (2§NE,E4.“”’;C;ED AT END AND CENTER BOTTOM BRACKET 3,0 E’o EF% T}}EgEAml_ER C  |WIND SPEED TABLE & TRACK CONFIGURATIONS 04/20/12| RIR
HEX HEAD SCREWS ) STILES 13 oA 1T)11,°'§( gT/TﬁCHED : D |ADDED JAMB BRACKET 12/18/12] RR
: ) £ |ADDED LONG PANEL GLAZING OPTION/ADDED HINGES| 02/08/17| RLR
14GA. DURASAFE - HEX HEAD SCREVS SECTION A—A (SIDE VIEW) / p
ROLLER CARRIERS ATTACHED NTS MAX SIZE L 2
TO END STILE W/ (3> 1/4° x 3/4 18 Wbt ) Y g
HEX HEAD SCREWS PER CARRIER o o ) 2 -~ Ny B
oo 14’ HEIGHT ég ’,."V‘SE OF TE'* \\‘ 4
e (DOOR HEIGHT =2 A A o 4 s
. 2' 10 BALL STEEL SUBJECT TO & £ o Tl 5
37 20GA. STRUT §UL1|?E|§A\,L/|}5§T§1€'EM ROLLER W/5° STEM WEIGHT LMITATIONS) |  E Zar " )' 3
ATTACHED W/ (3) W/ 7/16" RETAINER W/ 7/16° RETAINER INTERIOR OF GARAGE EE /X > @
1/4° x 3/4° HEX FOR NON-THREADED SHAFTS FOR NDN-THREADED SHAFTS — MAX. WDTH 180" . DESIGN LOADS o= fevees . 6
HEAD SCREWS : TYPICAL BOTTOM BRACKET@ : +18.2 PSF £ 4 THOMASL, SHECTIERDI E g
TYPICAL ‘DURASAFE END HINGE ' " i gé ,' '0‘ 8582 9‘47 %‘1 i7%
pesien Loads [T TTTTTTTTT] g3 g
N.T.S. @ +163.8 LBS/FT —or o TEST LOADS 53 'Q Os: -{,/.f:’ENS_?'0 W g
~185.4 LBS/FT J2 Vg7 @Y 2 E
(1.5 x DESIGN LOADS)| # £ VOS/ONALE g 2
+27.3 PSF | 85 AN @
(1) 5/16” DIA. x 1~5/8" T30 pr | EE TX 5
LAG BOLT ATTACHED TO JAMB - a
AT EA. JAMB BRACKET 2 X 6 SYP OR SPF LUMBER
20 GA CENTER STILE (NO. 2 OR BETTER) SPECIFICATIONS AND NOTES ‘ a' ,
I TN THE METHOD OF TESTING WAS IN SUBSTANTIAL 5 0 THE VERTICAL TR
7/ CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM FROM- THE TRAGK THE LOAD 15 TRANSFERRED. 10, THE VERTICAL JAMBS. " prrpm—————
— 7 / . E330 AND DASMA 108. THE PRESSURES SHOWN ON THE THE HORIZONTAL JAMS OR HEADER RECEIVES NO PORTION OF THE LOAD ENT !
* 20 GA. GALV. STEEL DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH 3163‘5’*1_5"5:1}“'& JAuE R RECL%\QE/SFT“AX'MW DESIGN LOADS OF: MODEL #650 AMARR OAK SUMMIT 1000, 2000
END STILE 7/16" DIA. BOLT RETANER THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN o D HARD WA WL L DESIGNED, MANUFACTURED MODEL #600 AMARR STRATFORD 1000, 2000
(1) PER ROLLER THE END ZONE, ROOF AT ANY SLOPE, AND I=1.0): ':N%('):‘)SRT';';EET?O:"S“"SHT&NZQR;’: 2: S;LF?SE_)B‘;O[E::‘:_ORMED LT MODEL #950 HERITAGE 1000, 2000
1/4-20 x S/G"TRACK 2" GALV. STEEL TRACK, WIND SPEED (MPH) | 110 100 | 95 91 87 COMMERCIAL QUALITY T Short, Long, Flush & Oak Summit Panel’s
Ok &> RIvETS R ACK MOUNTING D;R::"‘LT“’CK"ESS 051 EXPOSURE LEVEL B c c D D gﬁg@%ﬁggg:;@%g@@ﬁfgggﬁ?%; ESEEE‘:’;E&E% s SIE| ORAWNBY  OLJ| DA 09/10/03 DRAWNG NUMBER
: : ; ; ; INDICATED ON THIS DRAWING IN ADDI 0 INGS. _ 110
NTS MEAN ROOF HEIGHT] 30 15 25 15 25 6. REFER 7O TABLES ON THE REVERSE SIDE FOR ADDITIONAL DOOR WIDTHS B | cHEckeDBY AE| DATE 09/10/03 IRC-6018-110-15
e AND THEIR DESIGN PRESSURES ENTREMATIC SHEET | OF 3
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105




WOOD JAMB ATTACHMENT TO STRUCTURE

GLAZING OPTION CROSS SECTION - 2 X 6 VERTICAL JAMB ATTACHMENT T0 WOOD FRAME STRUCTURE
CATTING NOT AUATLABLE TN W IND-BORGE DEBRTS REGIAN S5716" X 3 LAG SCREWS STARTING 6’ FROM ENDS THEN 24° O.C. (I 1/2° EMBEDMENT)
— 2 X 6 VERTICAL JAMB ATTACHMENT T0O 2,000 PS] CONCRETE
GLAZING MEETS ASTM E1300-04 RILTI KWIK BOLT 3/8° X 4° STARTING 6° FROM ENDS THEN 24 OC. (2 1/2° EMBEDMENT)
DearaF WINDOW FRAME HILTI SLEEVE ANCHOR 3/8' X 2-3/4° STARTING 6 FROM ENDS THEN 24 OC. <1 1/4° EMBEDMENT)
W'STOA'GU"\;“‘E’GROTECTION OPTIONAL Decra INSERTS ITW/RAMSET REDHEAD (TRU-BOLT) 3/8° X 4’ STARTING 6 FROM ENDS THEN 247 OC. (2 1/2" EMBEDMENT)
2 X 6 VERTICAL JAMB ATTACHMENT T0 HOLLOW C-90 BLOCK
WITH UV PROTECTION STMPSON 1/4* X 3' TITEN SCREWS STARTING 6’ FROM ENDS, USE PAIRS OF FASTENERS
MIN. 3/32” THICK SSB (3" APART) AT 16° O.C. (1 1/2° EMBEDMENT)
GLASS HILTI 1/74° X 2-3/4° KWIK-CON II+ SCREWS STARTING 6° FROM ENDS, USE PAIRS OF
FASTENERS (3° APART) AT 167 O.C. (I 1/4’ EMBEDMENT)
m 2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK <2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8" X 2-3/4° STARTING 6’ FROM ENDS THEN 24° OC. <1 1/4
L EMBEDMENT> (OR, USE FASTENERS FOR HOLLOW C-90 BLOCKD
AT g,?gH*gﬂgRi/;A,f@vxgggwsg;ggg ¥LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
MOLDED INSIDE FRAME: *PREPARATION OF WOOD JAMBS BY OTHERS
SECTION B-—B : . \ \ \
wooD CONCRETE HOLLOW BLOCK GROUTED BLOCK
= STRUCTURE STRUCTURE STRUCTURE STRUCTURE
L P - -
2] |
e ST < T
38-1/8° 18-1/8* | ; i = o Ik hi:
2 e 2 3 2 *3 2 = 2 . 172° MIN 2-3/4* MIN 1-172* |MIN 4
o be N - % 2%6 JAMB
: 3 MIN
10~5/8° 10-5/8° /
2 3, o2 2 Z
= 2 A 2 o 2 12 2 22 S h
LONG PANEL GLAZING FASTENER DETAIL SHORT PANEL GLAZING FASTENER DETAIL /
NTS. NTS. ?
Z REV | DESCRIPTION OF REVISIONS DATE BV
UPDATED BOTTOM BRACKET INFORMATION
' 08/30/05] DLJ
A | AD0ED OAKSUMMIT AND GLAZNG OPTIONS /30/05
8 8 / B |REVISED NOTE 6 09/02/08| DLJ
?4 C |WND SPEED TABLE & TRACK CONFIGURATIONS | 04/20/12] RIR
= o o 3 3 A= T AR = A= T < - T — D |ADDED JAMB BRACKET ]2/18/]2 RIR
' 1 > ‘e Y H————TH— o 1
| /// _ /// . /// ‘ /// Wi THl /// il /// 1Bl /// E_[ADDED LONG PANEL GLAZIG CPTON/ADDED HINGES | 02/08/17| RIR
MAX SIZE = 3
% 18 woTH | B8 RN 2
OPTIONAL SHORT PANEL TOP GLAZED SECTION (STRUT AND STILE LAYOUT) / 14 HEIGHT 1 23 =B O0F Te 'y :
~ Z queer | G1 ANETenfehy
WEIGHT LIMITATIONS) | = E ; 6" J" | 8
. EE Za %% el %
gx s x ]
DESIGN LOADS a?: ; s e Prassvesanenase L'{
! +18.2 PSF 5 ,' g
{ -oe P | 22 Y ;77 {Q_’? 17/ 3
23 ( (/ O .- 5
TEST LOADS | 49 N, 5 /CENSE... é‘" s
= (1.5 x DESIGN LOADS)| 2§ W S/ONA\_E“ P 3
o - +27.3 psF | §% WA~ g
U E g -30.9 PSF 2 TX 8
- ] o 3
B B v |3 o % 9 ,
g |& 5 [l Z|p = |f Il
I —a——ae e  — A |3 TP 53 9L5
— || = |}l = | e ' ' ENTREMATIC
MY NP WP MODEL #650 AMARR OAK SUMMIT 1000, 2000
MODEL #600 AMARR STRATFORD 1000, 2000
\ A MODEL #950 HERITAGE 1000, 2000
DPTIONAL LONG PANEL TOP GLAZED SECTION ¢STRUT AND STILE LAYOUT) ll ‘U Short, Long, Flush & Oak Summit Panel’s
# ONG PANEL. GLAZING ONLY AVAILABLE IN TOP SECTION
- LI A SZE| ORAWNBY  DLJ| DATE 09/10/03 DRAWNG NUMBER
AVAILABLE TRACK CONFIGURATIONS B | cHECKD BY AAE| DATE  09/10/03 IRC-6018-110-15
N.T.S. ENTREMATIC SHEET 2 OF 3
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105




TABLE 1 TABLE 2 TABLE 3

DOOR STRUT SPACING (BASED ON RECOMMENDED SECTION CONFIGURATION) TOP DOOR SECTION HEIGHTS DOOR TRACK ATTACHMENT SPLICE
HEIGHT| A B C D E F G H | J K L M N (o] T HEIGHTIBtm | #2 | #3 | #4 | #5 | #6 | #7 | #8 | |HEIGHT|A| B | C| D | E | F G S
66" |5 1/2"|18 1/4"|25 1/2" |36 1/4"[43 1/2" |54 1/4"|61 1/2" 76 172" 20 12 12 2 1 2 [ 217 | 21" | 247 | 21" 66" [10"] 21"] 38" 58" 70"
7 |5 1/2"|18 1/4" |25 1/2"|39 1/4" |46 1/2" |60 1/4"|67 1/2" 82 1/2" e T e 2 o (2 e i [ o 7" |10"| 21" | 38" | 58" ‘ 76"
76" |5 1/2"|15 1/4"|22 1/2"|33 1/4" |40 1/2"|51 1/4"| 58 1/2"|69 1/4"|76 1/2" 88 1/2" o o o ar e e e e [ oF 76" [10"| 21" | 38" | 58" | 78" 82"
8~ |5 1/2°|18 1/4" |25 1/2" |36 1/4" |43 1/2" |54 1/4" |61 1/2"]72 1/4"|79 1/2" 94 1/2" T S R T B R R R B 8 [10"| 21" | 38" | 58" | 78" 88"
86" |5 1/2"[18 1/4"|25 1/2"|39 1/4" |46 1/2"|60 1/4"|67 1/2"|78 1/4" |85 1/2" ; 100 1/2" — B LA L L L L 86" |10"| 21" | 38" | 58" | 78" 94"
g |5 1/2°|15 1/4"| 22 172" |33 1/4" |40 1/2" |51 1/4" |58 1/2" |69 1/4" |76 1/2"| 87 1/4" | 94 1/2" : 10s /2| | 120" | 21" 21"} 217} 21" ) 21" | 18" | 21 g [10°| 21" | 38" | 58" | 78" 100"
96" |51/2°|18 1/4"| 25 1/2" | 36 1/4" |43 172" |54 1/4" |61 1/2" |72 1/4"| 79 1/2"| 90 1/4" | 97 1/2" 112727 | 116" [21"]21"] 21" | 18" | 18" | 18" | 21 96" [10"| 21" | 38" | 58" | 78" | 98" 106"
10" ][5 1/2"]18 1/4"[25 1/2"| 39 1/4"|46 1/2"[60 1/4"[67 1/2"[78 1/4"|85 1/2"| 96 1/4" [103 1/2" 118 172" |_11'0" |21"|18"| 18" | 18" ] 18" | 18" | 21" 10 [10"[21"] 38" [ 58" | 78" | 98" 112"
10'6" |5 1/2" |18 1/4" |25 1/2"|39 1/4" |46 1/2"|60 1/4" |67 1/2"|81 1/4"|88 1/2"|102 1/4"[109 1/2" 124 172°| [ 106" [21"]21"[21"[ 21" 21" | 21" 106" [10"| 21" | 38" | 58" | 78" | 98" 118"
11" |5 1/2"[18 174" |25 172" |36 1/4" |43 1/2"|54 1/4" |61 1/2" |72 1/4"|79 1/2"| 90 1/4" | 97 1/2" | 108 1/4"[115 1/2" 130 172°| [ 10°0" [ 21" | 21" | 21" | 18" | 18" | 21" 117 [10"| 21" | 38" | 58" | 78" | 98" [118" 124"
1176" |5 1/2" |18 1/4" |25 172739 1/4" |46 1/2" |60 1/4" |67 1/2" |78 1/4" |85 1/2"| 96 1/4" | 103 1/2"|114 1/4"[121 1/2" 136 1/2" 96 121" 118" 118" | 18" | 18" | 21" 116" |[10"| 21" | 38" | 58" | 78" | 98" 118" 130"
127 |5 1/2"[18 1/4"[25 1/2" |39 1/4" |46 1/2" |60 1/4" |67 1/2" |81 1/4"|88 1/2"[102 1/4"|109 1/2"|120 1/4"[127 1/2" 142 1/2" 5o I8 18 18 [ 18 [ 18" [ 18" 127 [10"| 21" | 38" | 58" | 78" | 98" [118" 136"
126" |5 1/2" |18 1/4" |25 1/2"| 36 1/4" |43 1/2" |54 1/4" |61 1/2"|72 1/4"| 79 1/2"| 90 1/4" | 97 172" [108 1/4" [ 115 1/2"[126 1/4"|133 1/2"[148 1/2" 56 T2 T3 2 [Aa [ 21 126" |10"| 21" | 38" | 58" | 78" | 98" [118"] 142"
13" |5 1/2"[18 1/47|25 1/2"| 39 1/4"[46 1/2"|60 1/4" |67 1/2"| 78 1/4" |85 172" 96 1/4" [103 1/2"|114 1/4"[121 1/2"[132 1/4"[139 1/2"[154 1/2" ER I A RCR IR 137 |10"| 21" | 38" | 58" | 78" | 98" [118"|138"| 148"
136" |5 1/2" |18 1/4"|25 172739 1/4" |46 1/2" |60 1/4" |67 1/2"|81 1/4" |88 1/2"|102 1/4"|109 1/2"|120 1/4"[127 1/2"[138 1/4"[145 1/2"[ 160 1/2' — B LA L L 136" |10"| 21" | 38" | 58" | 78" | 98" [118"[138"| 154"
14" |5 1/2"[18 1/47| 25 172" | 39 1/4"[46 1727 |60 1/4" |67 1/2" |81 1/4" |88 1727|102 1/4" | 109 1/2" | 123 1/4"| 130 1/2"| 144 1/4"[151 1/2"[166 1/2" I g ;? ;*13 ;? ;? 18 14 [10"| 21" | 38" [ 58" | 78" | 98" [118"[138"| 160"
7l " " " " n
6'6" 21" 118" 18" | 21" JAMB BRACKET SPACING ALLOWS +/— 27
TABLE 4 WITH SYP OR SPF NO. 2 OR BETTER ONLY
Section Center Stile Locations Max Design Loads
(Measured from Left Edge) Allowed
width |PEeI TPl o | ost 3rd 4th 5th | Positive | Negitive
®) (in) (in) (PSF) | (PSF)
Long
16''2 |Oak Summit| 48.75
REV | DESCRIPTION OF REVISIONS NE [BY
,|LPOATED BOTTOM BRAGKET IFORATIN /08| o
ADDED OAKSUMMIT AND GLAZING OPTIONS
B |REVISED NOTE 6 09/02/08] DLJ
C[WND SPEED TABLE & TRACK CONFIGURATIONS | 04/20/12] RIR
D [ADDED JAWB BRACKET /87| RR
£ |ADDED LONG PANEL GLAZING OPTION/ADDED HINGES 02/08/17| RIR
MAX SIZE | = g
jg e | 88 T OFTe
£8 - \ =4
(DOOR_HEIGHT =L ,‘«QETE* \ s
SUBJECT TO a ¥ ”~ G R 1<)
WEIGHT LIMITATIONS) | > E P )' 2
eE P *:‘ * ’ 5
p gx Ak +* 9 @
Oak Summlt DESIGN LOADS g:{ ;.:r ------------------------- ({
> +18.2 PSF TG et Nt 2
172 Long | 55.20 | 79.10 | 103.00 | 126.90 | 150.80 | 190 | 215 -206 PSF 1 E5 4, E’ ’}%
"2 |Oak it| 51.42 ; ) ) : . } &3 (KRBT 0,4 5
7772 [Oak Summil 5 77.21 | 103.00 | 128.79 | 15459 | 19.0 | 21.6 EsT Losns | D3 KON cENsee\Qg:; 8
(1.5 x DESIGN LOADS)| 3 € \\\SIONA\_E - 2
Long | 56.20 | 80.10 | 104.00 | 127.90 | 151.80 | 18.7 | 21.2 +27.3 psF | E8 ety °
174 |Oak Summit| 51.92 | 77.96 | 104.00 | 130.04 | 156.09 | 18.9 21.3 -30.9 PSF | F& X g
. EM Awmary
Long . . . . . . X ; ENTREMATIC
Oak Summit 0. MODEL #650 AMARR OAK SUMMIT 1000, 2000
‘ MODEL #600 AMARR STRATFORD 1000, 2000
17'10 Long 56.25 | 81.63 | 107.00 [ 132.38 | 157.75 18.3 20.7 MODEL #950 HERITAGE 1000, 2000
17'10|Oak Summit| 53.42 | 80.21 | 107.00 | 133.79 | 160.59 18.3 20.7 Short, Long, Flush & Qak Summit Panel’s
SIZE| DRAWNBY  DLJ| DATE 09/10/03 DRAWING NUMBER
Long | 57.80 | 82.90 | 108.00 | 133.10 | 158.20 | 182 | 20.6 : 5 IRC=6018=110-15
Oak Summif| 53.92 | 80.96 | 108.00 | 135.04 | 162.09 | 18.2 | 206 CHECKED BY AAE | DATE  09/10/03
ENTREMATIC SHEET 3 OF 3
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105




